 TV Problem Statement
Your company manufactures two models of tv: regular and high definition. Each regular tv contributes $15 to profit and overhead.  Each HDTV contributes $45.

Production limitations: 
1.  The daily HDTV tube production capacity is 50 and each HDTV requires 1 tube.

2. The daily available set assembly time is 240 hours. Each regular tv requires 1 hour, each HDTV requires 1.6 hours.

3. The daily available set inspection time is 162 hours. Each regular tv requires 1/2 hour, each HDTV requires 2 hours.
Problem:
How many of each type should you manufacture to maximize profit?
